ts

Perennial

A

EEHEEBAFR A T
(RE R M 7 2 4 R4 A
(B 10 1K 3% - 725)

HEAEBARAA ([ARXAFR ) ZEFG([EFEF]) RREEAL
AAHM B AR ([ALBH ) 8 - FZEWENH =+ H 1R
HZzHHHELARBEZEHLESERWT
EBHGgEEEER
BZ_ZENEANAA=1tHLEANEA
REE R
BEA~AA=1THLWLMEA
—EENEF TR E AR

Bt 7t FET T # o
“ E 2 145,950 107,588
55 B R A (115,948) (79,293)
£ # 30,002 28,295
H At I 2 94 106
7 %8 B 3% (3,953) (2,960)
17 BB ¢ (18,743) (19,948)
HAth #8 & BH 2 (1,200) (805)
28 4 A 3 6,200 4,688
ir % 2 5 (843) (658)
5% Bl AT i A 5,357 4,030
Fi I8 6 2,565 290




A% o e AL i A 7,922 4,320

i 7 (1,990) (1,990)
(i N | 8 4.0l 2.1l
EnfE: BN 8 & A A H
FE%EEI|_\%/E\EE Md-%}
1 EREEREHBE
AARKEE 2 B SIEB T %R EE e i 2 U +
we R ) A5 25uE [ BB R ) T AR R
AEHEHRRE " ZEEZ = FFEL2EER 28
MM AHIEAR TR A2 O HE LRI E RGBS 2% =
A=+ —HIEFEERERBERE — 8-

2. EXxBF WERkoHEHR
AR AR R N H H R A SE R o WA AR 2 AR

*EBEX

BZ~XA=1THLAKXHEEH
—EENEF —EE AR
FETT F T

w ¥
H B 145,950 107,588

H At i
HEYWEMEES WA BHE 87 103
B e A 7 3
I &> S
AR 146,044 107,694



A MR BB LB MNEEEXR LHGIE2 2 imT

E N g

& I
Mk
H O
i

*
S
=
=
3

3
A

&E
-
Dk
=

S8 T8
g B

B Bl A A
i JH

JBe SR A i A

EIT
S
R

*
P
okk &

NN
Chp

\
i

SIS
P
=m

=

\
/
=
g

N
R
il
=
i

Iy
i
Nl
%)ﬁ

92,288

30,239

1,036
2,411

96,842

17,575

11,554
1,475

0
Hm T
yE F

39,415

1,381

512

~ & A

K& E
TET

145,950

30,002
(23,802)

6,200
(843)

5,357
2,565

7,922

228,545

228,545

49,195
38,131

87,326

12,590
4,398



3 IR
W
#* OB
i

*
>
=
=
3

3
A

S H

\
/

\
33
H2

S T8

H

B A i A
]

N

N

= H
—

G

e

SIS
o
=

B

&

e
)
i

P
P 3
=

5

\
/
=
i

25
CRY
\

/
=
i

Pl

<t
5
3

fE G i A

74,847

18,682

524
2,682

77,352

16,824

48
955

39,778

637

618

L
3 7T

107,588

28,295
(23,607)

4,688
(658)

4,030
290

4,320

191,977

191,977

36,143
32,603

68,746

572
4,255



Hy & 5 78 & F
A EZ
BZ~XA=1THLWLAXKXHEEH
- D EpEE MEE BAMBAX
“TEENEFE ZEENFgF ZEENFE ZEFENF
T # JC T+ # r T % T + # T
ik 83,295 16,128 98,232 11,554
Sl N 175 12,165 2,367 104,965 1,036
HoAth 55 90 B 18,405 4,144 7,966 —
E M 28,340 6,481 17,048 -
i 1,113 280 334 -
S 2,632 602 — -
145,950 30,002 228,545 12,590
| |
PN
BE2NH=1+HIEANMEA

g i MEE EARME XL
TEEREEZE CEEREEZE CEEREIZE O CEERE D
T # JC + # r I i T + # oC
ik 72,688 14,957 119,981 48
N N 175 9,629 2,598 53,636 524
HoAth 55 90 B 9,251 4,500 5,755 —
E M 11,173 4,511 11,632 —
i 1,368 301 558 —
S 3,479 1,428 415 —
107,588 28,295 191,977 572
|

HEEDEBED AR R E M W4 &5 2 I 8 AT oy & e



gexEA
K M B J0BR T 8 4% I

=

Y I

o -
Bt

B R H %
R
5N

f o

5 ok ) IS 5 D B S
N

g
F A

'
/

Fz

W%

Fr B 18
%Mﬁ%ﬁi

%N

z J5 1]
mEFRME) (Ki4)

HENEEHpRETSER
N

A SEH FEEN
g SHESKREEHIZFERX

B PR A
&

il
H

(BRESEHE)

B W TR N
ko
w i

Il

§ E o K A

)

\

HEHEHH

=
i

REBERZ

BZAA=+8BLASHEA
—EENEF B =
FE T + # T

388 354

3,844 3,806

166 95

60 86

96,082 63,149

205 —

813 419

149 170

19 11
(31) (6)

19,475 17,479
| |
REBEERZ

BZAA=+8BLASAHEA
—EENF B =
FE T + # T
18,651 17,041

- 10

527 176

213 194

84 58

19,475 17,479
| |



Bt % E A

REEX
BZ~NA=1+8HLNEA
—EENE TR E D4R
FET T i T
SRATE X KB B
fOFE N A M R 671 486
W JH i HAE N 2 BUE R 138 163
LG & & % 2 F B 3B 4y 34 9
843 658
&

ﬁ%ﬂ%ﬁﬁﬁf%ﬁzﬁﬁﬁ%mﬁﬂ#nwz_ EZAFE 0 17.5%)

LN 1 I S = R N ST T = BN N 15 Bl i o S N [ i/ S S T
B xR BEEE -
& E X
BEA~NA=1tHLAKNHEA
#8 5|
—EEMF e
FETT F i T
W A 15 B 130 286
A B TH 207 —
WA RE B R AR (1,030) —
% JE Bl TH (1,872) (576)
(2,565) (290)
% B
& E &
BEA~NA=1tHLANHEA
—EENMF S S SN S
FET F i T
BB 48 L 0.019 T 2
e e I S
(= FF =4 :0.01% JC) 1,990 1,990



X 4

o It

ik o & HE B
I
—FE Y 4

T
B K 0.014
SN

B B E
nEE

| o

+N -
HNE:Sads
mHsR
< HEE
o
B | B &E
Wy 4+ m X
Bl 1] X &
T MER
= E R

BERER

8.

@~ s

Hik/N H 2
: 4,320,000%% JC
+ H : 198,95

(

JC

] 7,922,000
BF 47 48 A% 198,958,000

LR B M TR R AR

live
it v
&)
A

TH-AEEAUTHELAZEARKE:

= AR N A=

G/ USRS R S @ A (L il Rl G N IR & L A
&R R 5

i

(a)

NimR
Wi e
B4+
) & 11]
I m
I
IT

X mR
e B 4 0
R B 1] Y~
K iy m

I A<

8,275
SR PN
R

3,401

B AT A {H K 3

NimR
w ] e
SR S
e 1]
I m
I
IT

XYgmR
e BT 4 #0
i B 1] Y~
K iy m

I A<

86
58
144

—HERMEARZ R A

— N



A

N

» 1% 8,631,619

/\\g

B R
5 Jy

H

L]

A 3K
=3

ISR
e 2 o -
ENR
IR
N

FHRABREHE

10.

WE K
B4 2%
M@%

IS rmlor
ok
=l

EMBERE - HE R
g RETRSwmE
S e e
E%%?zﬁﬂ:%ﬁ%
Ty b g N R g
L B E A e
g%*&(%%u%,é
e e T2y T L
m%ﬁﬁﬁﬁwﬁﬁﬁﬂ%
- g2- - RgxEm
R e L

2N Sxel Frape.
RefeB T8 g
Ral #E Ty - o
" S i
M= S8 2wl

; \ﬁ
st e mERTE
¢§3L§HM$AWE
i Rip B
sl :.IA_/E TW_A?Q P 7??
e U oy T R — 8
Em%:O = E/W;_m%_m/&:
e S gﬁ o
= o Sl Ee
ax 1] D & o R - 1L~ I
3 o nxﬁﬂ.mlmuﬂ

j

CERS SR sy

%@MQ%MMEAZ%%
SREER, axls
gAY _ L wHg
et ORI R E S

o AR R A5 DLOR £
EENA B EC

ETIE
i’

FE
M



= =
I
=1
g
oy
Eegal
B2
K

&W&pﬂlo
H 1Y

A
5 IR 3

Br
=

H
i

+ =
1

5]

53D

Y.

2

Z

Z
24000

TE =
4 14

#H

#
%

fii 145,950,000 7T 4 2
1,219,000% 7 > ¥ [A] #7 F F+4.4% - & & ¥t

4 32,085,000% 7T (

v
=

>

29.211,000%% JT) ° Wi 8 b & £ 1.43 o

57,767,000% JC

RBEERMBER
BRAE®

AR A
BEREE

Bsodr 4+ S

ENNS

T mS

SR

gt

SR e
S M ¢ ﬁ:m
g

Sl s
ﬁn%//\:_ S
2PN
SN n & 3
@)@ﬁﬂﬁ
wRRL R
- mﬂza%a
=SR]
LS Q-+
L
T OE@RE
N ok © 1
T | g+
ﬁ+%%%$
FIINgg

Bl N Sk
W18 S w
WX o
EEX . —
WINHE IR

"WH-+H |

%) By

o it

#

{ ) 5 B
A e

(=]

i 5

1

k

T i

ft
4

_10 -

IEEREN
Ei 0



B
Y = 4 i

~ e R
252
<
W=z
wE
< BREE
@) B T
e
WEKER
o B2
KHEI -

oy g

= T
_:a \Im%z&
L=

2 . eH
e |iR
R 47 HE
= F g
Wiz
iﬂ%"ﬂ.ﬁ@wﬁ

AN

R —
] 4 )

o o

B Bl
T 1R AL A0

Yo
=

A 1h

| =

Rl O8RS Z
7

=7
(SONY)F1 L 5 (RICOH) M %%

At

=Y 2%
Ao R

15 1SO 14000%%

A A € | 88 > 3R M AK R R R

A

i

RAE 5y H AR

|/

kN R E AL [F

A 4
S A €

>
B
73

i

Vi@

7 o8 0 OB B BN AT A BB SR B el AR T 2 A Y

Bt #X 1,200,0004 JT ©

AREEZE

pEags ol

#h— 1 LLAF

5

{

H

%%,miﬁﬂa_@
=Y 2 il
= e & 1

o B
LK
S o

= R0
S ERE
.TWMW@ "

% o - B K
= e E
% o L&Zm'1
emd . BN
=i E=E

18 #1925 M
W E DL Kk

J'& BE IRy OB b
=

A 5
A A 3
A%

-

=R~
Ry H
agegs
AR S

-

A i n
ji
=
~F

BEK&HMBE

E%ﬁﬁ{,mﬁ
BR -~ H

pr—x4

F<Lo&
Sk afu

&g Mgy
He=<g
R =
1] 5 H
4 AN AIlT 1

11



Pr 5 Z

=]

f

A

£ 5 ff

R

C % it W 2 S A B

N2

Gl

f1 g & 2 %

alz,

f

=

=] 2
H o

A)

.

=

e
W_ S 8
-
%%*
Kz

= o N

e =
ﬁﬁw
1
B
e T
i $8 T
Bz
X R
& @K
&Y 4
Ky 57 B
XK
e 5=

BRI -
b !
1ol iy A e

TERENEXZLAREH

X
H
M =
i AR

peioges2

K 4

W=

&3 |

5 J5 o

RV

Ci

=75

— 12 —

+ B BN H A A 2 ] BCH AT ] B B 2 R

fif A%z Bl

f

7~ A

ﬁéﬁWﬁ
ﬂmﬁém
#%jﬂ%
\gi ‘Ar‘ﬂ\mm.\/\»ﬁ
%ﬂzmz
~NTE .=
&L Qi

4
[a]

¥, M

I

o It Ab >

3l
b -

RN
A YN

T i

(5]

B LtmBRACHKREERSTA

F B BT 1O 4 3 24

% T &



FFERAG 2RI EAB z2FEEH

2
~ﬁm%6m§%@&ﬁm%ﬂz$%$%%%%
HTHHSBZA R EFEH S AMRA A ZH

F—HURNZFF B AKETET—

N
B3
= IR

HFH, _FEFENFENH =+—H

BARBHEH KLNAZ BT EF G IRELLE LA FX
i e =3 %ﬁf&%ﬁﬂ%é NI B X Rl Y-
B W B 50 A K BB S G A e

[ [A] WRf 28 B A 0 A i RS H IRk TIOE B IR A o

p={

— 13 —



